
TOP CROSS-SECTION VIEW

DETAIL  A
FRAME CLOSED

1

1

2

2

A A

B B

Si
gn
Co
m
p

Pa
rt

 N
am

e:
Fl

at
 R

et
ro

 B
od

y 
w

/ 
Fl

at
 B

le
ed

 R
et

ro
 F

rm
 I

I 
&

 B
le

ed
 C

vr
K2

04
1-

21
07

-2
1

Pa
rt

 N
um

be
r:

R
ev

is
io

n:
D

at
e:

2/
12

/2
01

5

Sh
ee

t:
1 

of
 1

 
Si

ze
:

A
D

ra
w

in
g 

By
:

SB
re

ih
of

TH
IS

 D
RA

W
IN

G
 W

AS
 C

RE
AT

ED
 A

T 
N

O
 C

H
AR

G
E 

TO
 A

SS
IS

T 
YO

U
 I

N
 V

IS
U

AL
IZ

IN
G

 O
U

R 
PR

O
PO

SA
L.

 T
H

E 
D

R
AW

IN
G

 H
ER

EI
N

 I
S 

TH
E 

PR
O

PE
RT

Y 
O

F 
SI

G
N

CO
M

P.
 P

ER
M

IS
SI

O
N

 T
O

 C
O

PY
 O

R
 R

EV
IS

E 
TH

IS
 D

R
AW

IN
G

O
R 

TO
 U

SE
 T

H
IS

 D
RA

W
IN

G
 F

O
R 

PR
O

D
U

CT
IO

N
 I

S 
ST

R
IC

TL
Y 

PR
O

H
IB

IT
ED

 A
N

D
 C

AN
 O

N
LY

 B
E 

CO
PI

ED
, R

EV
IS

ED
 O

R 
U

SE
D

 F
O

R 
PR

O
D

U
CT

IO
N

 W
IT

H
 T

H
E 

EX
PR

ES
SE

D
 W

R
IT

TE
N

 P
ER

M
IS

IO
N

 O
F 

SI
G

N
CO

M
P.

A

NOTESDESCRIPTIONPART #ITEM
AssemblyFlat Retro BodyK20411

AssemblyFlat Bleed Retro Frame II / Bleed CoverK2107-21212

Pre-drill 5/32" - Top 36" o/cHinge Screw - #10 x 5/8" pancake head517879

Pre-drill 5/32" - Bottom every 48" o/cClosure Screw - #10 x 5/8" pancake head517880

79

1

2

80

80

80

1-3"
79

1

2

1 79

2

1

80

80

2

NOTE: THE FRAME ALIGNS 
TIGHT TO THE BODY 

SHOWING NO REVEAL.

NOTE: PRE-CUT KITS ARE NOT PRE-DRILLED.
(Holes shown in this drawing are for reference only.
Drilling of pilot holes are to be done by fabricator.)

SBreihof
Typewritten Text
         Ship To:
Sales Order #

SBreihof
Typewritten Text



DETAIL  A-1
 

DETAIL  A-2
 

DETAIL  B
 

CROSS-SECTION VIEW
 

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 1 

DRAWING BY:
SBreihof 8/15/2013

PART NO

    K2041

TITLE

Flat Retro Body - Assembly

SignComp

REV

THIS DRAWING WAS CREATED AT NO CHARGE TO ASSIST YOU IN VISUALIZING OUR PROPOSAL.  THE DRAWING HEREIN
IS THE PROPERTY OF SIGNCOMP.  PERMISSION TO COPY OR REVISE THIS DRAWING OR TO USE THIS DRAWING FOR
PRODUCTION IS STRICTLY PROHIBITED AND CAN ONLY BE COPIED, REVISED OR USED FOR PRODUCTION WITH THE
EXPRESSED WRITTEN PERMISSION OF SIGNCOMP.

Centroid X:

Centroid Y:

Principal Moments Ix:

Principal Moments Iy:

Section Modulus Ix:

Section Modulus Iy:

0.000 in

0.000 in

0.000 in^4

0.000 in^4

0.000 in^3

0.000 in^3

A

B

PARTS LIST
NOTESDESCRIPTIONPART #ITEM

Not provided by SignCompAngle Frame or Existing Structure 1
Top & BottomFlat Retro Body2041 2
SidesFlat Retro Body2041 3
One (1) per cornerFrame Corner Angle5305 4
By OtherAttachment Fastener 5
Pre-drill 5/32" holeCorner Angle Screw5218 13

NOTE: PRE-CUT KITS ARE NOT PRE-DRILLED.
(Holes shown in this drawing are for reference only.
Drilling of pilot holes are to be done by fabricator.)

5

5

3

2

1
3

2

4

13

13

5

2

3
13

13

1 4

5
2

1

3

5

4

13

13

3

13

51

4

4

13

3

2

1

*NOTE: IT’S IMPORTANT THAT
THE FRAME IS PLACED
TIGHT TO THE ANGLE 

MATERIAL BEFORE
FASTENING.



DETAIL  A
 

DETAIL  B
 

1

1

2

2

A A

B B

Si
gn
Co
m
p

Pa
rt

 N
am

e:
Fl

at
 B

le
ed

 R
et

ro
 F

ra
m

e 
II

 -
 A

ss
em

bl
y

K2
10

7
Pa

rt
 N

um
be

r:
R

ev
is

io
n:

D
at

e:
1/

30
/2

01
5

Sh
ee

t:
1 

of
 1

 
Si

ze
:

A
D

ra
w

in
g 

By
:

SB
re

ih
of

TH
IS

 D
RA

W
IN

G
 W

AS
 C

RE
AT

ED
 A

T 
N

O
 C

H
AR

G
E 

TO
 A

SS
IS

T 
YO

U
 I

N
 V

IS
U

AL
IZ

IN
G

 O
U

R 
PR

O
PO

SA
L.

 T
H

E 
D

R
AW

IN
G

 H
ER

EI
N

 I
S 

TH
E 

PR
O

PE
RT

Y 
O

F 
SI

G
N

CO
M

P.
 P

ER
M

IS
SI

O
N

 T
O

 C
O

PY
 O

R
 R

EV
IS

E 
TH

IS
 D

R
AW

IN
G

O
R 

TO
 U

SE
 T

H
IS

 D
RA

W
IN

G
 F

O
R 

PR
O

D
U

CT
IO

N
 I

S 
ST

R
IC

TL
Y 

PR
O

H
IB

IT
ED

 A
N

D
 C

AN
 O

N
LY

 B
E 

CO
PI

ED
, R

EV
IS

ED
 O

R 
U

SE
D

 F
O

R 
PR

O
D

U
CT

IO
N

 W
IT

H
 T

H
E 

EX
PR

ES
SE

D
 W

R
IT

TE
N

 P
ER

M
IS

IO
N

 O
F 

SI
G

N
CO

M
P.

A

B

NOTESDESCRIPTIONPART #ITEM
Top &  BottomFlat Bleed Retro Frame II2107 1

SidesFlat Bleed Retro Frame II2107 2

Two (2) per cornerFrame Corner Angle53053

#10 x 1/2" pan head tappingCorner Angle Screw5218 13

THE OUTER FRAME
CORNER ANGLE FLOATS

IN THE FRAME FOR
ALIGNMENT.

1

3

3 13

13

2

1

2

1

2

13

13

3

13

13

3

3

3

3

13

13

2

NOTE: PRE-CUT KITS ARE NOT PRE-DRILLED.
(Holes shown in this drawing are for reference only.
Drilling of pilot holes are to be done by fabricator.)

SBreihof
Typewritten Text
         Ship To:
Sales Order #



DETAIL  A
 ASSEMBLED

DETAIL  B
 

ASSEMBLY CROSS-SECTION 

1

1

2

2

A A

B B

Si
gn
Co
m
p

Pa
rt

 N
am

e:
Fl

at
 B

le
ed

 R
et

ro
 F

ra
m

e 
II

/B
le

ed
 C

ov
er

 -
 A

ss
em

bl
y

K2
10

7-
21

Pa
rt

 N
um

be
r:

R
ev

is
io

n:
D

at
e:

1/
30

/2
01

5

Sh
ee

t:
1 

of
 1

 
Si

ze
:

A
D

ra
w

in
g 

By
:

SB
re

ih
of

TH
IS

 D
RA

W
IN

G
 W

AS
 C

RE
AT

ED
 A

T 
N

O
 C

H
AR

G
E 

TO
 A

SS
IS

T 
YO

U
 I

N
 V

IS
U

AL
IZ

IN
G

 O
U

R 
PR

O
PO

SA
L.

 T
H

E 
D

R
AW

IN
G

 H
ER

EI
N

 I
S 

TH
E 

PR
O

PE
RT

Y 
O

F 
SI

G
N

CO
M

P.
 P

ER
M

IS
SI

O
N

 T
O

 C
O

PY
 O

R
 R

EV
IS

E 
TH

IS
 D

R
AW

IN
G

O
R 

TO
 U

SE
 T

H
IS

 D
RA

W
IN

G
 F

O
R 

PR
O

D
U

CT
IO

N
 I

S 
ST

R
IC

TL
Y 

PR
O

H
IB

IT
ED

 A
N

D
 C

AN
 O

N
LY

 B
E 

CO
PI

ED
, R

EV
IS

ED
 O

R 
U

SE
D

 F
O

R 
PR

O
D

U
CT

IO
N

 W
IT

H
 T

H
E 

EX
PR

ES
SE

D
 W

R
IT

TE
N

 P
ER

M
IS

IO
N

 O
F 

SI
G

N
CO

M
P.

A

B

NOTESDESCRIPTIONPART #ITEM
AssemblyFlat Bleed Retro Frame II21071

All SidesFlat Bleed Retro Cover21212

#8x5/16"  Pre-drill 1/8" holeCover Screw5195 12

12
2

12

12

12

12

1

2

2

12

2

12

2

1

2

12

1 12 2

4.244

2

1

1

4

12

2

SignComp
Tension Clip

NOTE: PRE-CUT KITS ARE NOT PRE-DRILLED.
(Holes shown in this drawing are for reference only.
Drilling of pilot holes are to be done by fabricator.)

SBreihof
Typewritten Text
         Ship To:
Sales Order #

SBreihof
Typewritten Text


	Text5: 
	Text6: 
	Text3: 
	Text4: 
	Text1: 
	Text2: 


